Problem of the Month

November 2005

Start with a unit circle, centered at (0,0).  In this circle draw two circles A and B, each of radius 
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 with centers at 
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, respectively.  Above these two circles draw a circle C that is tangent to all three of the previous circles.  (See picture on left.)
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Now construct a sequence of circles in quadrant two.  The first circle in the sequence, C1, is tangent to circle C, circle A, and the unit circle.  The second circle in the sequence, C2, is tangent to the circle C1, circle A, and the unit circle.  Continue this construction.  What is the radius of the 3rd circle in this sequence? See picture on right.  Bonus:  What is the radius of the nth circle in this sequence?    
Problem of the Month Rules:

· Submissions must be dated; only the last submission will be graded.

· Submissions may only be made by individuals or groups of two.

· Submissions for this problem are due before 5 p.m. on November 22, 2005.

· Submissions may be given to Dr. Leigh Lunsford (Ruffner 346), Dr. Phillip Poplin (Ruffner 329), or Dr. David Shoenthal (Ruffner 344).

Problem of the Month Website:  Contains copies of problem statements, etc.

http://web.longwood.edu/staff/shoenthaldw/potm.html
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